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Introduction

This was the first sitting of the new GCSE 9-1 1PS0 Psychology and the assessment is quite
dramatically different to the old 5PS0 assessment. 1PS0/01 has relatively few multiple choice
questions in comparison to the 5PS01 paper and has two extended response questions with
synoptic elements. The paper is also longer in marks and duration than the old paper 1. Despite the
increase in demand introduced by the new GCSE 9-1 specification candidates found the paper
accessible on the whole with some very pleasing responses.

Candidates struggled with the short, factual knowledge based questions which was a surprise.
Questions 10 and 19b are good examples where candidates struggled to recall basic information
from compulsory studies listed on the specification. This should be a focus of study for future
series.

Questions that required understanding were more successfully answered with the best responses
giving full descriptions or using connectives where necessary. Questions 14 and 20 are examples of
this question type.

Some questions required AO1 knowledge and then AO2 application, such as questions 8 or 16,
which were well-answered on average with candidates tending to pick up at least one mark in
general on these.

Questions that required conclusions were very accessible to most candidates but any questions
that then asked for improvements or strengths or weaknesses were less well responded to. It was
very common for generic responses with strengths or weaknesses or for improvements.
Candidates need to give fully contextualised responses and also fully justify any ideas they have
where relevant and appropriate.

The essays tended to be imbalanced and so a clear improvement for future series would be to
ensure balance and more AO3 content in particular.

The remainder of this Examiner Report will focus on each individual question and specific examples

of candidate responses which can be used to help prepare students for future 1PS0/01
examinations.
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Question 2 (a)

For question 2a candidates needed to state which type of mindset Malik is most likely to develop.
There was one mark available for stating the type of mindset. The best responses stated the
mindset correctly and weaker responses either gave the incorrect mindset or some other incorrect

Sstatement.

2 Malik and Ruhi are trying to solve a puzzle. After every attempt, Malik is told that he
has high intelligence. After every attempt, Ruhi is told that she must try harder and

not give up.

(a) State, according to Carol Dweck’s mindset theory, which type of mindset Malik is
most likely to develop.

ResultsPlus

Examiner Comments

This response was awarded 1 mark for fixed
mindset.

Question 2 (b)

For question 2b candidates needed to state which type of mindset Ruhi is most likely to develop.
There was one mark available for stating the type of mindset. The best responses stated the
mindset correctly and weaker responses either gave the incorrect mindset or some other incorrect

Sstatement.

(b) State, according to Carol Dweck’s mindset theory, which type of mindset Ruhi is

most likely to develop.
(1)

.................. Ryl \a. 0P Wiy o cuatp. . grsuta. oand@t.

ResultsPlus

Examiner Comments

This response was awarded 1 mark for growth
mindset.
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Question 3 (a)

For question 3a candidates were required to use Daniel Willingham’s learning theory to explain one
way Mario could support his pupils’ physical development. There was one mark for accurate
understanding of Willingham's learning theory (AO1) and a further mark for exemplification of how
the theory could be used to explain the scenario (AO2). The best responses gave some accurate
knowledge of Willingham, most commonly about practice, and then applied this to Mario’s pupils in
a relevant way. Weaker responses either got one mark for AO1 or AO2 or alternatively gave an

incorrect suggestion.

3 Mario is a teacher who works at a primary school. His new class of pupils are
struggling with their physical development.

(a) Explain, using Daniel Willingham’s learning theory, one way Mario could support

his pupils’ physical development.
(2)

A ilaghom.. fewnd...clideen. showld. radase ... B
Lnovemeal s a0 st s cqaente.do. el Aevelop.. The. .

oSl Tnere foxe. Moo, shoutd. uie..a. Set . movement. ...
_____________ podtenhn. PO az  Cldien. can. copy. Und vehodie. .

ResultsPlus

Examiner Comments

This response was awarded 2 marks - 1 AO1 for
understanding of Willingham; 1 AO2 for
application to the scenario.
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Question 3 (b)

Question 3b required candidates to explain one strength and one weakness of using Daniel
Willingham'’s learning theory with Mario’s pupils. There were two marks available for each strength
or weakness - one mark for identification of each strength or weakness (AO2) and a further mark
for justification of each (AO3). Candidates generally struggled with this question commonly giving
generic responses which were not creditable. The best responses gave a strength and weakness of
the theory applied to Mario’s pupils in a relevant and appropriate way. Weaker responses were
either generic or did not fully justify their strength and/or weakness.

(b) Explain one strength and one weakness of using Daniel Willingham’s learning

theory with Mario’s pupils.
(4)

Strength:

ResultsPlus

Examiner Comments

This response was awarded 2 marks - one AO2 for
the strength, one AO2 for the weakness.
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Question 4 (a)

For question 4a candidates needed to explain what stage of cognitive development Danielle was in
according to her response. There was one mark available for demonstrating accurate
understanding of Piaget's theory of cognitive development (AO1) and a further mark for
exemplification of how the theory could be used to explain the scenario (AO2). The best responses
gave some knowledge about one of Piaget's stages, most commonly concrete operational, and then
applied this to the scenario about sweets in a relevant and appropriate way. Weaker responses
either did not give enough knowledge about the theory or did not apply their ideas to the scenario
in an accurate way or fully enough.

4 Janet is a psychologist investigating cognitive development. She visits a local primary
school and uses a task to assess the stages of cognitive development of the pupils at
the school.

Firstly, sweets were arranged in Line A.

+ Line A: Ten sweets in a row with 1cm between each of them.

Then, later the sweets were arranged in Line B.

+ Line B: The same 10 sweets in a row but with 2cm between each of them.
Danielle says there are 10 sweets in line A, but she says there are 20 sweets in line B.

(a) Explain what stage of cognitive development Danielle is in according to her
response,

You should refer to a theory in your answer.
(2)

~Adodirg ko plogrs Skeges ol
@gm&LEM\rQS@;@{:Q}me\\QB _________ AN P

ResultsPlus

Examiner Comments

This response was awarded 2 marks - 1 AO1 for
understanding of Piaget's theory (no conservation
in pre-operational stage); 1 AO2 for exemplification
of how this can explain why Danielle is in this stage
(so she thinks there are more sweets...)
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Question 4 (b)

Question 4b required candidates to explain two conclusions that could be made from Figure 1
about the cognitive development of the children at Danielle’s school. There was one mark available
for each conclusion made (AO3) and a further mark for justification of each conclusion through
analysis/interpretation (AO3). The best responses gave two clear conclusions and supported these
with evidence from the graph. Weaker responses either just gave the conclusion(s) with no
supporting evidence from the graph or simply repeated the results with no conclusion(s).
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(b) Janet collects data on how children at Danielle’s school perform in the task. She
splits the children by age (in years), from 5 to 11 years old, with 50 children in
each age group.

Their performance is shown in Figure 1.

Bar chart to show the number of children aged 5-11 years
who gave the correct answer to the cognitive tasks

:
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Figure 1
Explain two conclusions you could make from Figure 1 about the cognitive
development of the children at Danielle’s school.
(4)
Conclusion one:
....................................... %.Eﬂmnbggaqmﬁdﬁmmmammnm
........s,.s.:e.gm.x..c,,t.s.a.,x.y.......,,...;k.a,.m.L.m.pz,d................a.;..._.........a.x.L..,,......u-.h_;u...........c.mi.:.a..ﬁm .........................
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Conclusion two:

SRR 3 ' K =" = SR X 0 WU = SRS SN - S b SN, ~ = S - YOO
s S OALER A L A AP B i LR AL B O Bl R O e 0o )
SEORL... OO0 A =\ IR aUs EYoF ATUFIION ~ VS0 &7 - o N o | o KU W < =%

L =Tt TN ot NS cm S
ResultsPlus

Examiner Comments

This response was awarded 4 marks - 2 for first
conclusion (justification, conclusion); 2 for second
conclusion (conclusion, justification)

ResultsPlus

Examiner Tip

When asked for a conclusion candidates must give
one. Simply describing the data with no conclusion
is not creditworthy. The candidate here gives two
conclusions and supports them with evidence.
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Question 5 (a)

For question 5a candidates needed to state one finding of Peterson and Peterson (1959). One mark
was available for correctly stating a finding. The best responses used specific figures that were
accurate to gain the mark. Weaker responses either gave inaccurate statements (e.g. that 80% were
recalled after 3 seconds) or they got muddled up with findings from other studies such as Baddeley,
Miller, or Murdock.

5 (a) State one finding of Peterson and Peterson (1959).

(1)
/ﬂu/Mje/Mu/ﬂm..ﬂm.ac/,..faﬁ...éam.l&.xy? ............................

ResultsPlus

~ Examiner Comments

This response was awarded 1 mark for suitable
finding.
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Question 6

Question 6 required candidates to describe the difference between the terms ‘reductionism’ and
‘holism’. Up to two marks were available for description of a difference between the terms. The best
responses gave clear, explicit comparisons using connectives such as ‘whereas’ or ‘however'.
Weaker responses either gave two separate definitions (implicit comparison scoring 1 mark) or
gave incorrect definitions.

6 Describe the difference between the terms ‘reductionism’ and ‘holism.

OO T4 e orgonie ok FMaNN S

. . .

o lewng e seowng AN KOS

ResultsPlus

Examiner Comments

This response was awarded 2 marks for
description of the difference between
reductionism and holism.

‘ ResultsP
Examiner Tip

As shown in this response candidates need to use
connectives when describing a difference between
terms.
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Question 7

Question 7 required candidates to use the Theory of Reconstructive Memory to explain why
Bamboo’s memory of the event could have changed. There was one mark available for accurate
understanding of the Theory of Reconstructive Memory (AO1) and a further mark for
exemplification of how the theory could be used to explain the scenario (AO2). The best responses
gave some clear knowledge of the theory and then applied this in an explicit manner to the
scenario about Bamboo. Weaker responses either only gave knowledge of the theory with no
application to the scenario, or only gave application with no explicit knowledge of the theory, or
could not remember what the theory was so gave incorrect statements.
7 Bamboo saw a man dressed in blue enter a shop and commit a robbery.

When asked by the police later, Bamboo said the man was dressed in black.

Explain why Bamboo's memory of the event could have changed.

You should refer to the Theory of Reconstructive Memory in your answer.

__Acco_ra’_ckzg__.ﬁQ____Ba_(tée_z‘,é..’5...me.ofy...ag&.:fé::cmﬁ..ﬁ(am:éme_...._._...._._._.____________._._._.._._._.__._
memory, windt We remember aboul.an LVeNL.Is.........
il enced by our individual funique schenas. . If...
_Ba_mmo.__W_w_a_f.c/ﬁe.&..a.,..é.ﬁ.t.o,q.f.c.'tms.....m.ﬂtb._c:nr_m‘ﬁ_.cz__(c:._._...................
.__weamrg.....b.éac{s.,..Iq..i.s....s.memg___w__(jL(__cmng_e...mmmﬁfmw
SAW.T0 £IEwith Nis eXisting.schema . ... .

ResultsPlus

Examiner Comments

This response was awarded 2 marks - 1 AO1 for
accurate understanding of the theory; 1 AO2 for
exemplification of how the theory can explain the
scenario.
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Question 8

For question 8 candidates needed to use the Multi-store Model of Memory to explain why William
performed poorly in the Spanish test. There was one mark available for demonstrating
understanding of Multi-store Model of Memory (AO1) and a further mark for exemplification of how
the theory could be used to explain the scenario (AO2). The best responses gave some knowledge
of the theory, commonly either about attention or rehearsal, and then applied this to William's

scenario in a relevant and appropriate way. Weaker responses tended to just give the application to
the scenario.

8 wcher was reading out a list
of .

William has just taken the test to recall the list of Spanish words and &S performes

Explain, using the }
Spanish test.

O QTR 10, DAL SROMTCY....] o ER RO
L eaam KA. Haamy.. p.mcmn—at. UMD AN ST RN

mam.s.rdnsmg

CDRLAUNAL Ini TS PTUADG.. ARRONAD. . 40 Ik ARand. taklu
TN Ao S0 RACINRL. SO e R, AN FEALILL (AT

ML Mo 4 (Total for Question 8 = 2 marks)

ResultsPlus

Examiner Comments

This response was awarded 2 marks - 1 AO1 for
accurate understanding of the theory; 1 AO2 for

exemplification of how the theory can explain the
scenario.
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Question 9 (a)

For question 9a candidates were required to explain two conclusions Dekota could have made from
the data in Table 1. There was one mark available for each conclusion made (AO3) and a further
mark for justification of each conclusion through analysis/interpretation (AO3). The best responses
presented a correct conclusion about retrograde or anterograde amnesia with evidence from the
table. Weaker responses tended to give two conclusions with no supporting evidence or got
muddled up and wrote about the types of amnesia the wrong way around.

9 Dekota wanted to investigate the difference between retrograde and anterograde
amnesia.

She asked one participant with retrograde amnesia and one participant with
anterograde amnesia to perform two tasks and recorded their performance.

Task 1: A complex picture was shown to the participants. The participants were asked
to reproduce the picture after a 15-minute delay. The reproduction of the picture was
scored out of 36.

Task 2: Participants were asked 100 factual questions about real news events that
occurred before they suffered from amnesia.

Dekota compared the performance of her two participants with a control participant
who did not suffer from amnesia.

Table 1 shows Dekota’s results.

Participant with
retrograde amnesia 26 40
Participant with

8 80
anterograde amnesia
Control participant with 33 97
no amnesia

Table 1

(a) Explain two conclusions Dekota could make from the data in Table 1.
(4)

Conclusion one:

DA Can. MRMAMDr. A0 hENL.....

OSYLOZAL, . pwnupo,m ........... Q‘(\.Lg ....... %ﬁh ........ Bl gor tha. prarared ..
st buk $0/100 £OY. U0 00w TOSE
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Conclusion two:

e those widdh. Irogracle. cumnasla.... cadkeed  sttugie. .

. sememiber.. MANQS. (ST a0 . ... QLA M. JowE. ...

O'T\LthO“OQ?GYWMMSfQSﬂ

</6\Z ResultsPlus
Examiner Comments

This response was awarded 4 marks - 2 for first
conclusion (conclusion, justification); 2 for second
conclusion (conclusion, justification).
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Question 9 (b)

Question 9b required candidates to explain one strength and one weakness of Dekota’s study.
There were two marks available for each strength or weakness - one mark for identification of each
strength or weakness (AO2) and a further mark for justification of each (AO3). The best responses
gave a clear strength and weakness and fully justified why it was a strength or weakness with
application to the scenario. Weaker responses were generic or did not fully justify their response
(e.g. just offering ‘reducing generalisability’ or similar for their justification) or were incorrect (e.g.
focusing on sample size rather than representativeness).

(b) Eng'a-i?\ one s?re'ﬂ&#;ﬁd one weakness of Dekota’s study. v
(4)

Strength:
'“‘\40:;50;::1 ......... contlol. ..males. It ca=ce. o molke. .

W\W%P;arjowﬂ[ .......... be . Uh a(;ma[&;ath-
m\prmcmg/bm:y ......... con. bc:c,ampaz:d ....... k. shouss.
Uudnpocb ....... gxf}u,rabd@aompucd ........ to...cncther,.
%%m g both amnesia. wodldn €. g reliable Teaull

0U~dont Wnow uy POHN SO Tr ?G‘ggyad.so a
kness: - onE o) Lg.uco reliohilly @ € O accrate

comper o, -
%Qﬂ%%ﬂ%FUtLQWQ%ﬂmﬁQM
and.onl bwio.with. . amnesic. This mens.

&mmmt‘owontbcﬁmmbmblebo

obmczmnc,;;a‘aatfm@m ......... IE..only..lool.. |

Mene  dihuant. (Total for Question 9 = 8 marks)
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,@««"g/\(*ﬁ -
N / ResultsPlus

‘v| < Examiner Comments

This response was awarded 4 marks - one AO2 for
the identification of a strength (use of control
participant) and one AO3 for justification of the
strength; one AO2 for the identification of a
weakness (only used 3 participants in total and two
with amnesia) and one AO3 for justification of the
weakness.

/,"' \
//

&\ ResultsPlus
\\_‘ Examiner Tip

Candidates need to make sure they apply all their
ideas to the scenario as this response has done
here.




Question 10

Question 10 required candidates to name two of the measures assessed in the client outcome
qguestionnaire as used in Young (2007). There was one mark available for correctly naming each
measure. Candidates struggled with this question as they did not know the detail required for the
studies. The best responses gave two measures accurately but these were uncommon. Weaker
responses were either clear guesses which were incorrect or did not attempt the question.

10 Name two of the measures assessed in the client outcome questionnaire as used in
Young (2007).

Measure 1:

Howo e Wwaes. ¥ eMing  S98iens. O

..... Fleon..on.. 8Cale Ou. 0f V0 hew €agy 16 3t
fel You 0. 0% 06 0 NOKLLAE oo

(Total for Question 10 = 2 marks)

Examiner Comments

This response was awarded 2 marks - 1 for each
accurate measure named.

“ ResultsP
Examiner Tip

Candidates need to make sure they learn the basic
information included in the studies named on the
specification like this candidate has done here.
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Question 11 (a)

For question 11a candidates needed to state one possible cause of Shaun's depression that could
be defined as ‘nature’ given in the scenario. There was one mark available for correctly stating one
aspect of ‘nature’. The best responses linked this back to the scenario using genes / a genetic
predisposition whereas weaker responses either gave simplistic statements with no link (e.g. from
his dad) or got nature and nurture muddled up (with 11b).

11 Shaun has been experiencing depression. He has been struggling to get out of bed to
go to work and has attempted suicide. Shaun has not been eating properly and has
felt tired and lethargic at work.

Shaun’s mother has recently been diagnosed with a life-threatening illness, and his
father was diagnosed with depression when Shaun was a baby.

(a) State one possible cause of Shaun's depression that could be defined as ‘nature’in
the above scenario.
(1)

DS AR NS AR ML L0 Attt L WAL LA KIS DHUK.....

ResultsPlus

Examiner Comments

This response was awarded 1 mark - 1 for correctly
stating one aspect of nature (it was in his DNA).
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Question 11 (b)

For question 11b candidates needed to state one possible cause of Shaun's depression that could
be defined as ‘nurture’ given in the scenario. There was one mark available for correctly stating one
aspect of ‘nurture’. The best responses linked this back to the scenario using stress / environmental
trigger whereas weaker responses either gave simplistic statements with no link (e.g. because of his
mum'’s diagnosis) or got nature and nurture muddled up (with 11a).

"[b) State one possible cause of Shaun’s depression that could be defined as ‘nurture’
in the above scenario.

(1)
\ ﬂ&w\’h\mmluu@\\\mﬁwmdu

Dk,

ResultsPlus

Examiner Comments

This response was awarded 1 mark - 1 for correctly
stating one aspect of nurture (mother's illness a
stressful life event).

GCSE Psychology 1PS0 01
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Question 11 (c)

Candidates needed to explain one way that drugs could be used as a treatment to help Shaun for
question 11c. There was one mark available for demonstrating accurate understanding of the use
of drugs as a treatment for depression (AO1) and a further mark for exemplification of how drugs
could be used as a treatment to help Shaun (AO2). The best responses gave some accurate
knowledge about antidepressant drugs, most commonly SSRIs and their mode of action, and
followed this with suitable and relevant application to the scenario about Shaun. Weaker responses
either did not give any AO1 knowledge or did not fully apply their response (e.g. just putting ‘it will
make Shaun happier’) or gave inaccurate or underdeveloped statements about drugs or Shaun.

(c) Explain one way that drugs could be used as a treatment to help Shaun.

........ OAOCAS . ON SRASTOAAN W WA DO, . Serovonun g
......... CAOEOSR, WAL, MOOA - bAiOA_ O OROAL LN 0se Vs

s DRS. RASANG. g 00unG Yo WOC L

ResultsPlus

Examiner Comments

This response was awarded 2 marks - 1 AO1 for
understanding of drugs for depression; 1 AO2 for
application to the scenario in how it will help
Shaun.
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Question 11 (d)

Question 11d required candidates to explain one strength and one weakness of using drugs as a
treatment to help Shaun. There were two marks available for each strength or weakness - one mark
for identification of each strength or weakness (AO2) and a further mark for justification of each
(AO3). The best responses clearly identified a strength and weakness of using antidepressants for
Shaun and fully justified these in context. Weaker responses either gave purely generic responses
or did not fully justify their strength or weakness.

(d) Explain one strength and one weakness of using drugs as a treatment to help
Shaun,

(4)
Strength:

Qo Strenghn . 85 XAk & .0 QASE HACHNG. ...
IO XO Mm UnQnge.....suans..... maod . and. tureon

N
whond _as. -Hf\ﬂtkﬂgas AN LNSLUNG.... ond..
woud. hawe.. £ R L~ how® Hao undlSek.....
Ok weunbu\g fo. chcmge s M\qqlurs MG, 0.

Weakness:

ON0. tarOKNeSS.. o faor  Shown connd laecmm ot
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N / ResultsPlus

‘v| < Examiner Comments

This response was awarded 4 marks - one AO2 for
the identification of a strength (drugs work quickly)
and one AO3 for justification of the strength.; one
AO2 for the identification of a weakness
(antidepressants may be addictive) and one AO3
for justification of the weakness.




Question 12

For question 12 candidates needed to explain why Olivia may have developed an addiction to the
drug with reference to the influence of genes. There was one mark available for demonstrating
accurate understanding of the influence of genes for addiction (AO1) and a further mark for
exemplification of how the influence of genes can be used to explain the scenario (AO2). The best
responses gave some knowledge about the link between specific genes and addiction (e.g. DRD2
alleles) and then applied this to the scenario about Olivia in a relevant and appropriate way.
Weaker responses tended to give application only and no knowledge of the link between genes and
addiction.

12 Olivia had been consuming large amounts of a drug and finds it difficult to stop once
she has started. Olivia has now been diagnosed with addiction.

Olivia's mother and father had similar problems with the same drug and were also
diagnosed with addiction.

Explain why Olivia may have developed an addiction to the drug.

You should refer to the influence of genes in your answer.

..... DA RLACEION. LOMMAL e AEALELC PN BRI L er DK
SOLERan il PR ATRNGL WAL RO AU CAeOL 10,04 TILIEFOE (A.....
LOAIA. oL LRI L T tHh, LLDL JEDL MBI LALL JOULL L A..........

ResultsPlus

Examiner Comments

This response was awarded 2 marks - 1 AO2 for
application to the scenario (genetic/DNA with some
application to the scenario); 1 AO1 for
understanding of a gene for addiction (DRD2
gene).
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Question 13 (a)

For question 13a candidates were required to explain one conclusion that could be made from the
data in Table 2 in terms of staffing costs for Siobhan over the next five years. There was one mark
available for a conclusion (AO3) and a further mark for justification of the conclusion through
analysis/interpretation (AO3). The best responses gave an appropriate conclusion about the next
five years and supported this with evidence from the table. Weaker responses incorrectly focused
on the previous five years, did not give evidence to support an appropriate conclusion, or just
repeated the data from the table with no conclusion.

13 Siobhan manages a mental health ward and is considering staffing costs for the
future, Siobhan has considered the incidence of mental health problems in her ward
over the past five years.

Table 2 shows the number of patients admitted to the mental health ward and the
staffing costs over the last five years.

5 years ago 26 £520,000

4 years ago 30 £600,000

3 years ago 32 £640,000

2 years ago 34 £680,000

1 year ago 35 £700,000

Current year 37 £740,000
Table 2

(a) Explain one conclusion that could be made from the data in Table 2 in terms of
staffing costs for Siobhan over the next five years.
(2)

(7179.4% . PV PPA ST\ \U.Q WN,thJj
o stolluw wels  w LH ku.p WLU\ILI.MAtlj.

ResultsPlus

Examiner Comments

This response was awarded 1 mark - 1 for the
conclusion.
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Question 13 (b)

Question 13b required candidates to explain one improvement that Siobhan could have made to
her investigation into the future staffing costs for her mental health ward. There was one mark
available for identification of a relevant improvement and a further mark for justification. The best
responses gave an appropriate improvement focused on her investigation into staffing costs and
then fully justified why this would improve her investigation in a relevant way. Weaker responses
tended to give practical solutions to saving money which was not the focus of the question (e.g.
employ less staff) or did not fully justify an appropriate suggested improvement.

(b) Explain one improvement that Siobhan could make to her investigation into the
future staffing costs for her mental health ward.

ResultsPlus

Examiner Comments

This response was awarded 2 marks - 1 for
relevant improvement identified; 1 for justification
which is linked to the improvement.

GCSE Psychology 1PS0 01
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Question 14

For question 14 candidates needed to define what is meant by ‘visual agnosia’. Up to two marks

were available for a suitable definition. The best responses gave an accurate definition and then
generally gave an example to exemplify as appropriate. Weaker responses only gave a very brief
definition (for one mark) or got muddled up and gave an incorrect definition.

14 Define what is meant by ‘visual agnosia’

Qe

.................. TR aVe VRt W L - Obyects. ok

ResultsPlus

Examiner Comments

This response was awarded 2 marks - 2 for full
definition of visual agnosia.

28  GCSE Psychology 1PS0 01



Question 15

For question 15 candidates needed to identify two processes that occur in Figure 2. The best
responses accurately identified the two correct options from the list. Weaker responses either only
chose one response or chose one or more inaccurate options from the list.

15 Figure 2 shows a typical synapse.

Neurotransmitter Enzyme

Receptor
Axon \ /

Dendrite

Mitochondria

(Source: © Medical Labeled / Alamy Stock Vector)
Figure 2
Identify two processes that occur in Figure 2.
B8 A The neurotransmitters will bind to the receptor like a lock and key.
The receptors will bind to the synapse like a lock and key.
The neurotransmitters are released into the synaptic gap.

The receptors are released into the synaptic gap.

B B 8 83

B
C
D
E The neurotransmitters always block the receptors.

~ (Total for Question 15 = 2 marks)

us

Examiner Comments

This response was awarded 2 marks - 2 for
identifying the correct options from the list.
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Question 16

Question 16 required candidates to explain one problem that Antoine may have experienced as a
result of the damage to his left hemisphere with reference to the role of the left hemisphere. There
was one mark available for accurate understanding of the role of the left hemisphere (AO1) and a
further mark for exemplification of how the role of the left hemisphere could have be used to
explain the scenario (AO2). The best responses gave accurate knowledge about the role of the left
hemisphere followed by application to Antoine which was common. Weaker responses gave the
application only or got muddled up with the left and right hemispheres.

16 Antoine has suffered a stroke, which has damaged his left hemisphere, ™~~~

Explain one problem Antoine may experience as a result of the damage to his left
hemisphere.

You should refer to the role of the left hemisphere in your answer.

BRINBE R SOARIEINTD..... PSS S B SR S

........... %mwnhbwwa}-‘hu

ResultsPlus

Examiner Comments

This response was awarded 2 marks - 1 AO1 for
understanding of the role of the left hemisphere; 1
AO2 for application to the scenario in terms of how
it might affect Antoine.
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Question 17

Question 17 required candidates to explain one strength and one weakness of lateralisation as an
explanation for the sex differences between Ahmed and Sadiah. There were two marks available
for each strength or weakness - one mark for identification of each strength or weakness (AO2) and
a further mark for justification of each (AO3). Candidates struggled with this question and quite
often their responses were purely generic so no marks could be awarded. The best responses gave
two clear strengths of lateralisation in males and females and fully justified this with sustained
contextual links to Ahmed and Sadiah. Weaker responses either did not fully justify the strength
and/or weakness or were purely generic.

17 Ahmed is male and enjoys competitive activities that use spatial ability, whereas
Sadiah is female and enjoys cooperative activities that use language ability.

Explain one strength and one weakness of lateralisation as an explanation for the sex
differences between Ahmed and Sadiah.

Strength:

Weakness:

AL SRR DA, DL k... QI A O RPPLLER D

NEAL RGO 6 WA DYONA o M DG G A QD
CBRPUAANA . oA AR (AR COMPEEHALIE.. QOHNMIHID

CRNEMOAL ... Gees. OIS GUNCHANCONG LMY ).
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< (; ResultsPlus
V\; Examiner Comments

This response was awarded 2 marks - one AO2 for
the identification of a strength (the research
evidence) and one AO3 for justification of the
strength; the weakness is not creditworthy as it is
generic.

4\
/

O\
/\\\ ResultsPlus

) Examiner Tip

Candidates need to make sure they apply all their
ideas to the scenario as this response has done for
the strength.




Question 18 (a)

For question 18a candidates were required to explain what Holly was likely to find in her
investigation with reference to a study. There was one mark available for accurate understanding of
a relevant study selected (AO1) and a further mark for exemplification of how the study could have
be used to explain the scenario (AO2). The best responses gave a finding from the chosen study,
most commonly Damasio’s study of Phineas Gage's skull, and then applied this as appropriate to
the scenario about Holly's patients. Weaker responses tended to either give the AO1 knowledge of

the study or the AO2 application.
18 Holly is interested in how damage to the pre-frontal cortex can impact on personality.

Holly asks 10 male patients who are patients at her local hospital with pre-frontal
cortex damage to talk about the differences in their personality before and after

the damage.

(@) Explain what Holly is likely to find in her investigation.
[pnosde - Phinzas  (2)
~ Log®

M ...... cﬁsf)p .......... __________________________ e

You should refer to a study in your answer.

ResultsPlus

Examiner Comments

This response was awarded 2 marks - 1 AO1 for
understanding of a study (Damasio’s study); 1 AO2
for application to the scenario (patients are ruder,
angrier after the damage).
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Question 18 (b)

For question 18b candidates needed to explain two improvements that could have been made to
Holly’s study. There was one mark available for identification of each relevant improvement and a
further mark for justification of each improvement. The best responses gave two relevant
improvements, most commonly those on the mark scheme regarding improving the diversity of the
sample and focusing on collecting more objective data, and then fully justified why these would
improve Holly's study in context. Weaker responses tended to not fully justify why the suggestion
made would improve the study or gave inappropriate suggestions.

(b) Explain two improvements that could be made to Holly’s study.
(4)

Improvement one:

" She could Lse lemales agswel)l so e

o Shdy s o geromlisable.

Improvement two:

_ She  Couldve asked Yownily members
do i -

Examiner Comments

This response was awarded 2 marks. 1 for the first
improvement (identification of a relevant
improvement) - needs more for the justification
mark; 1 for the second improvement (identification
of a relevant improvement).
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Question 19 (b)

Candidates were required to state the number of people that responded to the newspaper
advertisement in Haney, Banks, and Zimbardo (1973) for question 19b. There was one mark
available for accurately stating the number of people. The best responses gave the correct number
of people and weaker responses guessed and therefore gave an incorrect number.

(b) State the number of people that responded to the newspaper advertisement in
Haney, Banks, and Zimbardo (1973).

(Total for Question 19 = 2 marks)

ResultsPlus

Examiner Comments

This response was awarded 1 mark for correctly
stating the number of people.
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Question 20

Question 20 required candidates to describe the difference between pro-social behaviour and anti-
social behaviour. Up to two marks were available for description of a difference between the terms.
The best responses accurately described a clear difference between the terms using connectives
(e.g. whereas) with weaker responses only giving two definitions (so implicit comparison) or making
inaccurate statements (e.g. that anti-social behaviour is about being introvert and not enjoying
parties).

20 Describe the difference between pro-social behaviour and anti-social behaviour.

Lrhouccrcr. folloc). LCCiefpd. Aond...
ardd. Chidca fHe /o wher ad QL. ...

and. /1. .agglellice.. O bl CHA C EaF ..
FCO /fhe G/ ) (Totalfor Question 20 = 2 marks)

ResultsPlus

Examiner Comments

This response was awarded 2 marks for
description of a difference.
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Question 21 (a)

For question 21a candidates needed to explain what was likely to happen to Tunji with reference to
Piliavin et al. (1969). There was one mark available for demonstrating accurate understanding of
Piliavin et al. (1969) (AO1) and a further mark for exemplification of how Piliavin et al. (1969) could
have been used to explain the scenario (AO2). The best responses gave some accurate knowledge
of Piliavin's study, commonly about the drunk confederate being less helped than the ill
confederate, and then applied this as appropriate to the context about Tunji. Weaker responses
either gave knowledge of the study or applied this briefly to Tunji (either scoring one mark) or they
claimed there had been a bystander effect in Piliavin's study which is incorrect.

21 Tunji is drunk and on a busy train. She trips and falls while on the train with a lot of
people present.

(a) Explain what is likely to happen to Tuniji.

You should refer to Piliavin et al. (1969) in your answer.
(2)

K YA TS S L o AT ... MO QLO L.

........ na o\ﬁ\h%\\%g«;t&\&(‘r@hwghﬁumm“maﬂ

e AN KA LA SRANE L AN ol OROQYR L e

Examiner Comments

This response was awarded 1 mark - 1 AO2 for
application to the scenario (unlikely to help Tuniji
due to self-inflicted damage and put themselves in
danger).
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Question 21 (b)

Question 21b required candidates to explain one strength and one weakness of using Piliavin et
al.'s (1969) study as an explanation of Tunji's situation. There were two marks available for each
strength or weakness - one mark for identification of each strength or weakness (AO2) and a
further mark for justification of each (AO3). The best responses gave a clear strength or weakness
of Piliavin's study and justified this fully in the context of the scenario involving Tunji. However, lots
of strengths and/or weaknesses were generic so could be given no credit. Some gave a generic
strength and then a fully contextualised weakness, or vice versa, affording some credit.

(b) Explain one strength and one weakness of using Piliavin et al's (1969) study as an
explanation of Tuniji's situation.

(4)

Strength:

pidauin.. et ol was o8

pqwm"

UM'CDQMWM'QL%MMM% ..... oY hn—c»ﬁnem.li“ad

A, apeved. de.. TomL s Situadden on it man simier 4o

he.. Scenerio. ot eccued s Pluavin er ol .

Weakness:

owaauin ex ah (1a6a ) Wad  peforwed

)

a1 AN A0 € 0 bR | WML Gobeml L sou@D loye

impecred bystander We(e LU | as ek, Peapie. . (e, (ke .

. e.. 58X comneerndsh s A TUNY L WED. 10,0 Collectiulrt . Cudbr@s. ..
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| /< Examiner Comments

This response was awarded 4 marks - one AO2 for
the identification of a strength (covert so reduced
demand characteristics) and one AO3 for
justification of the strength; one AO2 for the
identification of a weakness (only done in America
/ individualistic culture) and one AO3 for
justification of the weakness.
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Question 22

For question 22 candidates needed to explain why Leonora went to see the film about car racing
with reference to a factor affecting conformity to majority influence. One mark was available for
demonstrating accurate understanding of a factor affecting conformity to majority influence (AO1)
with a further mark for exemplification of how the factor affecting conformity to majority influence
could have been used to explain the scenario (AO2). The best responses gave a clear accurate
factor affecting conformity, commonly normative social influence or unanimity of the group, and
then applied this as appropriate to the scenario involving Leonora. Weaker responses just applied
directly to the scenario (so not gaining the AO1 mark) or just recycled the scenario and did not add
anything new.

22 Leonora goes to the cinema to watch a film with her friends. She wants to watch a
film about unicorns taking over the world, whereas her friends all want to watch a
film about car racing.

Leonora goes to watch the film about car racing.
Explain why Leonora went to see the film about car racing.

You should refer to a factor affecting conformity to majority influence in your answer.

...... | 4 amwamLLyh(}NQ(m?wmd
_________________________________________________ (N e fCUnn, ooGur  Cov racng.

N
AV

R

(Total for Question 22 = 2 marks)

MoYe | IM'L(j Wow ok +9 cntern,

ResultsPlus

Examiner Comments

This response was awarded 2 marks - 1 AO2 for
application to the scenario (Leonora saw the film
due to size of majority); 1 AO1 for understanding
of a factor affecting conformity to majority
influence (size of majority).
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Question 23 (a)

Question 23a required candidates to explain one conclusion that Michael could have made from
the data in Figure 3. One mark was available for a conclusion with a further mark for justification of
the conclusion through analysis/interpretation. The best responses gave an accurate conclusion
from the graph, either that males are less obedient or females more so, and supported this with
evidence. Weaker responses described the data with no conclusion present so could be awarded
no credit.
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23 Michael wanted to see the influence of authority on the levels of obedience of males
and females.

He approached 13 male and 6 female participants when wearing a high visibility
jacket and asked for their seat on a busy bus. Michael recorded the behaviour of the
participants in response to the request.

Michael’s results are shown in Figure 3.

A comparative bar chart to show the number of male and
female reactions to the request to give up their seat

—
re

i
[ %]

—
o

B Obeyed request
M Did not obey request

Number of participants

Males Females

Gender of participant

Figure 3

(a) Explain one conclusion that Michael could make from the data in Figure 3.
(2)

-SMQQR SHNG . FrOX. 0 IMRA. FANR.. TEghes Lovets. 0p onedrents.
Thad.. 8. 800 4.0 tare. 2. 08, e nuimmia o, O es. A
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ResultsPlus

Examiner Comments

This response was awarded 2 marks - 1 for
conclusion, 1 for justification.
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Question 23 (b)

For question 23b candidates needed to explain one improvement that Michael could have made to
his study. There was one mark available for identification of a relevant improvement with a further
mark for justification. The best responses suggested an appropriate improvement, most commonly
regarding sample representativeness related to female: male ratio, and then fully justified in
context why this would improve the study. Weaker responses tended to either not fully justify their
appropriate suggestion (e.g. just saying ‘this will make it more generalisable) or gave an
inappropriate suggestion (e.g. increase the sample size) which would not necessarily improve the
study.

(b) Explain one improvement that Michael could make to his study.

(2)

fzﬁwm«mmﬁmﬁkey .......... peopfle... are 12 ONUN.......
_____ o AN AUHUY  JIJR oo

ResultsPlus

Examiner Comments

This response was awarded 2 marks - 1 for
relevant improvement identified; 1 for justification
which is linked to the improvement.
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Question 24

Question 24 required candidates to assess how stages of morality could account for the responses
given by the men in the scenario.

This was an extended open response question with the ‘Assess’ taxonomy which targets AO1, AO2
and AO3 content. AO1 was looking for knowledge and understanding of the stages of morality, AO2
was for application to the scenario, and AO3 was analysis and evaluation of the stages of morality
leading to judgements/conclusions of how useful they would be for the scenario given about the
men.

Assessment of this question was through a level based mark scheme where a ‘best-fit’ approach
was used; deciding which level most closely describes the quality of the answer. Each AO was
judged separately and where the components met the requirement for the level fully (and perhaps
has elements of the level above), then marks were awarded at the top of the level. Where the
components met the level but only just about, they are awarded marks at the bottom end of the
level. When a response was imbalanced (i.e. one or more AOs were stronger than another) a
compromise was found. Consideration was also given regarding this question requiring balance
between the AOs (AO1 3, AO2 3, AO3 3).

The best responses used Kohlberg's stages of morality and initially described factual information
regarding these (AO1). They then applied these stages to the men in the scenario accurately (AO2)
and then attempted to analyse this further using evaluation and came to appropriate judgements
regarding why the stages might be useful or not to explain the men’s responses (AO3).
Unfortunately this was uncommon and there were a lot of blank responses or those that recycled
the scenario and added nothing new. A minority misunderstood the question and thought they had
to judge the men’s responses using their own morals. Some candidates chose to use Piaget or
Damon which was acceptable too but commonly this was quite brief.
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*24 A woman needs money to help her brother but does not have enough to help him.
She steals money from her workplace and gives it to her brother.

Three men from England were asked whether the woman's actions were right or
wrong and why.

+ Man A said the woman was right to steal the money because everyone in the
world is equal and so money should be given to those who need it.

+ Man B said the woman was wrong to steal the money because she might get in
trouble.

+ Man C said the woman was right to steal the money because her family might
disapprove of her not helping her brother.

Assess how stages of morality can account for the responses given by the men.
(9)
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ResultsPlus

Examiner Comments

For this response the AO1 was awarded level 3
(accurate and thorough understanding of the
stages of morality), the AO2 was awarded level 2
(application of morality to the scenario), and the
AO3 was awarded level 2 (deconstructed relevant
ideas mostly using logical chains of reasoning,
imbalanced, judgements supported occasionally
using evidence).

Overall this response was given level 2 - 6 marks.
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Question 25

Question 25 was a synoptic essay which required candidates to assess Samantha’s behaviour using
two areas of psychology that they had studied.

This was an extended open response question with the ‘Assess’ taxonomy which targets AO1, AO2
and AO3 content. AO1 was looking for knowledge and understanding of psychological content, AO2
was for application to the scenario, and AO3 was analysis and evaluation of the psychological
content leading to judgements/conclusions of how useful it would be for the scenario given about
Samantha.

Assessment of this question was through a level based mark scheme where a ‘best-fit’ approach
was used; deciding which level most closely describes the quality of the answer. Each AO was
judged separately and where the components met the requirement for the level fully (and perhaps
has elements of the level above), then marks were awarded at the top of the level. Where the
components met the level but only just about, they are awarded marks at the bottom end of the
level. When a response was imbalanced (i.e. one or more AOs were stronger than another) a
compromise was found. Consideration was also given regarding this question requiring balance
between the AOs (AO1 3, AO2 3, AO3 3).

Whilst this essay was more frequently responded to, and of higher quality, than Q24 this is a
potential area for improvement in future series. The best responses gave at least two areas of
psychology, of which memory (topic 2), social influence (topic 5) and the brain (topic 4) were the
most commonly used, and then went on to apply these to the scenario involving Samantha and
attempted some evaluation too. Weaker responses tended to be rather superficial and gave very
brief AO1 statements that usually blended into the AO2 application and then made no attempt to
evaluate. Candidates need to try and balance the three assessment objectives (AOs) required in
these essays and also for Q25 need to consider the synoptic element of using at least two areas of
psychology they have studied (the ‘areas’ are the different topics learned so candidates need to do
more than use social influence (topic 5) in two different ways, for example).
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*25 Samantha has just made friends with a group of girls at school. The group always

does what one girl, called Molly, asks them to do. P %
While at school, Samantha was asked by Molly to punch a boy in the face, but she Ot

refused. The group of girls are told by Molly to gang up against Samantha during
lunchtime in the canteen and she suffers a head injury. wm

Samantha’s teacher asks her what happened during the incident and she cannot G&ﬂ%ﬂ
remember. GUNNRENOL

Assess Samantha’s behaviour using two areas of psychology that you have studied.

», A

(9)
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ResultsPlus

Examiner Comments

For this response the AO1 was awarded the top of
Level 2 (mostly accurate understanding of two
areas of psychology), the AO2 was also the top of
level 2 (attempt at application of the areas of
psychology to the scenario), and the AO3 was
awarded level 2 (deconstructs two areas of
psychology using mostly logical chains of
reasoning, imbalanced, judgements supported by
occasionally with evidence).

Overall this response was given level 2 - 6 marks.
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Paper Summary

Based on their performance on this paper, candidates should:

* Ensure they learn basic information about compulsory studies listed on the specification (such as
that for question 19b on this paper).

Fully contextualise all responses where they are given a scenario. Purely generic responses when
asked to apply to a scenario cannot be awarded credit.

Give conclusions when asked to do so and not just describe the data they are given.

* Comparisons require connectives so if candidates are asked to describe a difference they need to
be using these (e.g. whereas).

Balance essays with equal AO1, AO2, and AO3 material and in particular AO3.
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Grade Boundaries

Grade boundaries for this, and all other papers, can be found on the website on this link:

http://www.edexcel.com/iwantto/Pages/grade-boundaries.aspx
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